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Coding Decoding Questions for SBI PO Pre, IBPS PO Pre, SBI Clerk 
Mains and IBPS Clerk Mains Exams. 

Coding Decoding Quiz 39 

Directions: Study the following information carefully and answer the questions given beside: 

 

In a certain code language, 

 
‘Become Your Role Model’ is written as ‘S4 C6 N5 Z4’ 
‘Human Life World Change’ is written as ‘D6 I5 X5 M4’ 
‘Insane Make Others Crazy’ is written as ‘D5 J6 N4 P6’ 
 
 

1.  What is the code of the word ‘Revive’ in the given code language? 

A. P5   B. S5   C. S6   D. R6   E. None of these  

 
2.  Which of the following words will have their code ‘F6’ in the given code language? 

A. Eleven  B. Enough  C. Empire  D. Both ‘Eleven’ and ‘Empire’   
E. All of these 

 
3.   What is the code of the word ‘Super Over’ in the given code language? 

A. T5 P4  B. T4 P5  C. T4 P4  D. T5 P5  E. None of these 

 
4.  If the code for the words ‘Never Look ____’ is coded as ‘M4 C5 O5’ in the coded 
language then what will be the missing word? 

A. Back   B. Below  C. Bad   D. Before  E. Both B and C 

 
5.  What is the code of the word ‘How is the josh’ in the given code language? 

A. J2 I2 K4 T4  B. I3 J3 K4 U3  C. J2 I3 K4 U3  D. J2 T5 T5 I2  E. None of these. 
 
 
 
Correct Answers: 

1 2 3 4 5 

C E A B C 

 



 

 

Common Explanation: 
  
In the code given for each word, 
  
Each letter of the code can be obtained changing the first letter of its corresponding word to the next letter 
according to alphabetical series. 
  
For example, first letter of the word ‘Become’ is ‘B’ and the next letter of ‘B’ in alphabetical series is ‘C’. Hence, 
the letter is ‘C’. 
  
Similarly, first letter of the word ‘Insane’ is ‘I’ and the next letter of ‘I’ in alphabetical series is ‘J’. Hence, the 
letter is ‘J’. 
  
Now, each number of the code denotes the number of letters of its corresponding word. 
  
For example, the number of letters in the word ‘Become’ is ‘6’. Hence, the number is ‘6’.  
Similarly, the number of letters in the word ‘Insane’ is ‘6’. Hence, the number is ‘6’. 
Therefore, the code of the ‘Become’ is ‘C6’ and ‘Insane’ is ‘J6’. 

 
Explanations : 

1.  Following the common explanation we can say that ‘S6’ is the code of the word ‘Revive’. 
 

Hence, the correct answer is option C. 
 
 

2.   Following the common explanation we can say that the code of ‘Eleven’, ‘Enough’ and ‘Empire’ is ‘F6’. 
 

Hence, the correct answer is option E. 
 
 

3.  Following the common explanation we can say that ‘T5 and P4’ is the code of the words ‘Super' 'Over’ 
respectively. 
 

Hence, the correct answer is option A. 
 
 

4.   Following the common explanation we can say that if the code for the words ‘Never Look ____’ is 
coded as ‘M4 C5 O5’ in the coded language then the missing word will be Below. 
 

Hence, the correct answer is option B. 
 
 

5.  Following the common explanation we can say that ‘J2 I3 K4 U3’ is the code of the word ‘How is the 
josh’. 
 

Hence, the correct answer is option C. 
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